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Berechne die Aufgaben.
Das entsprechende Feld mit deinem Ergebnis malst du mit Bleistift dünn aus.
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»Tauschbörse Unterricht«

340 + 70 = ________

420 - 50 =

290 + 50 =

560 - 80 =

140 + 70 =

430 - 60 =

820 + 90 =

720 - 80 =

660 - 70 =

470 + 40 =

830 + 90 =

520 - 70 =

930 - 70 =

820 - 40 =
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370 + 60 =

630 + 90 =

410 - 80 =

660 - 80 =
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http://www.tb-u.de


Tauschbörse Unterricht: http://www.tb-u.de

A. Bergkemper, 5/99

Lösungen
340 + 70 = 410

420 - 50 = 370

290 + 50 = 340

560 - 80 = 480

140 + 70 = 210

430 - 60 = 370

820 + 90 = 910

720 - 80 = 640

660 - 70 = 590

470 + 40 = 510

830 + 90 = 920

520 - 70 = 450

930 - 70 = 860

820 - 40 = 780

610 - 60 = 550

460 + 60 = 520

590 + 40 = 630

680 + 70 = 750

530 - 70 = 460

350 + 90 = 440

370 + 60 = 430

630 + 90 = 720

410 - 80 = 330

660 - 80 = 580


